
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3ROLVK�6ZLPPLQJ�)HGHUDWLRQ �������������������6WURQD��

0LVWU]RVWZD�3ROVNL�Z�Sá\ZDQLX�-XQLRUyZ�0á�����ODW
'ĊELFD���������������

.RQNXUHQFMD��� ']LHZF]ąW�����P�GRZROQ\ ���ODW
����������������� /LVWD�VWDUWRZD�(OLPLQDFMH

5RN�XU�

6HULD���]���

� :2521,(&.$�'RPLQLND �� 3LĊWQDVWND�$48$�%\GJRV]F] 17
� *52'=.$�0DULD �� :,.,1*�7RPDV]yZ�0D] 17
� ./,0$6=(:6.$�0RQLND �� 1(3781�6WDUJDUG�6]F]� 17
� $/(.6$1'52:,&=�$UOHWD �� 2/,03,-&=<.�6XZDáNL 17
� 3/87$�.LQJD �� &6L5�026�'ąEURZD�*yUQLF]D 17

6HULD���]���

� 1,0,(52:,&=�$QQD �� -89(1,$�%LDá\VWRN 17
� '=,(:$�$OHNVDQGUD �� /,'(5�&KHáP 17
� 5$7$-&=$.�/LZLD �� 0.3�6]F]HFLQ �������
� =$3(1'2:6.$�.DUROLQD �� *���%LHODQ\�:DUV]DZD �������
� 6.2:521�:HURQLND �� *,/86�*LORZLFH �������
� *Ï5$/�*DEULHOD �� 1$:$�6NLHUQLHZLFH �������
� à8.8û�$QQD �� 2/,03,-&=<.�6XZDáNL 17
� :,5=<1.,(:,&=�$GD �� 1(3781�6WDUJDUG�6]F]� 17

6HULD���]���

� *5<6=.$�0DJGDOHQD �� $67520$/�$.:$:,7�/HV]QR �������
� .$1,$�0DUW\QD �� 32/21(=�:\V]NyZ �������
� 7(7(5�3DWU\FMD �� 6.$53$�/XEOLQ �������
� 62%&=$.�$JQLHV]ND �� 6.5$�%HáFKDWyZ �������
� $'$02:,&=�0DMD �� -$*,(//21.$�:DUV]DZD �������
� )('252:,&=�=X]DQQD �� :2'1,.�5DGRP �������
� 5<%,ē6.$�2OJD �� %$725<�6RNyáND �������
� 685*$�.ODXGLD �� %2%5<�'ĊELFD �������

6HULD���]���

� 678'=,ē6.$�:LNWRULD �� -25'$1�.UDNyZ �������
� :/,=à2�3DWU\FMD �� :$57$�3R]QDĔ �������
� 26=:$�(PLOLD �� 25=(à�(OEOąJ �������
� -$1,&=(.�-RDQQD�62 �� 81,$�2ĞZLĊFLP �������
� %8&+$/6.$�3DWU\FMD �� 25=(à�(OEOąJ �������
� 12:$.�0DUW\QD �� 7..)�6]F]\JáRZLFH�.QXUyZ �������
� -ĉ'5=(-$.�0DáJRU]DWD �� :2'1,.�ĝUHP �������
� .2:$/&=(�$QQD �� 0260�7\FK\ �������

6HULD���]���

� 67$ē&=<.�2OJD �� *26L5�3LDVHF]QR �������
� /(&,(-�.DWDU]\QD �� .251(5�=LHORQD�* �������
� =<*$�,]DEHOD �� 1$:$�6NLHUQLHZLFH �������
� '5=(:,(&.$�.DUROLQD �� ,.$5�0LHOHF �������
� %,$à2:Ą6�.DUROLQD �� ��2ĪDUyZ�0D]RZLHFNL �������
� 3$:/8.,(:,&=�5DQGLD �� :2'1,.����.DWRZLFH �������
� )526=7ĉ*$�$JQLHV]ND �� $4$5,86�0\ĞOHQLFH �������
� =,(17$5$�$JDWD �� 25=(à�(OEOąJ �������



6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3ROLVK�6ZLPPLQJ�)HGHUDWLRQ �������������������6WURQD��

0LVWU]RVWZD�3ROVNL�Z�Sá\ZDQLX�-XQLRUyZ�0á�����ODW
'ĊELFD���������������

.RQNXUHQFMD�����']LHZF]ąW�����P�GRZROQ\��(OLPLQDFMH

6HULD���]���

� 6=58%.2:6.$�-XOLD �� ':Ï-.$�025(1$�*GDĔVN �������
� -$&(.�6DELQD �� 0260�7\FK\ �������
� -85$�.DWDU]\QD �� -89(1,$�:URFáDZ �������
� :,ĉ&.2:6.$�'DULD �� 6+$5.�5XGQD �������
� =,20.2:6.$�$JDWD �� ':Ï-.$�025(1$�*GDĔVN �������
� .8/,.�1DWDOLD �� 8.6�026�(áN �������
� 327ĉ3$�.DUROLQD �� -25'$1�.UDNyZ �������
� ./,&+�0DMD �� 81,$�7DUQyZ �������

6HULD���]���

� *2/,ē6.$�.DWDU]\QD �� 73�2/,03,-&=<.�$OHNVDQGUyZ�àyG �������
� 6.2:52ē6.$�:HURQLND �� :$57$�3R]QDĔ �������
� 01,&+�2OLPSLD �� $=6�$:)�3R]QDĔ �������
� /,31,&.$�-XOLD �� 32/21,$�:DUV]DZD �������
� &+$1&(:,&=�=X]DQQD �� %$725<�6RNyáND �������
� 3$&,25.,(:,&=�$JDWD �� 6.6�67$57�àyGĨ �������
� .,(&�0DJGD �� ĩ2/,%25=�:DUV]DZD �������
� .1$3,.�$QQD �� 3,Ą7.$�&KRU]yZ �������

6HULD���]���

� *5$%$5&=<.�'RPLQLND �� *,0����856<1Ï:�:DUV]DZD �������
� 0,/(:6.$�0DUWD �� 3,Ą7.$�&KRU]yZ �������
� .81.$�.DPLOD �� *26L5�3LDVHF]QR �������
� 7$&=$à$�$OLFMD �� 3LĊWQDVWND�$48$�%\GJRV]F] �������
� 2.$-�2OLZLD �� 0.6�026�.DWRZLFH �������
� 8/$72:6.$�$OLFMD�62 �� 81,$�2ĞZLĊFLP �������
� */$1(57�'DULD �� Ï6(0.$�6WDURJDUG�*GDĔVNL �������
� )5Ą&=(.�0DULND �� ĩ2/,%25=�:DUV]DZD �������

6HULD���]���

� 62:$�0DUWD �� -25'$1�.UDNyZ �������
� %8&=.2:6.$�.DWDU]\QD �� 6+$5.�5XGQD �������
� 3,(7521,(&�.DWDU]\QD �� 3,Ą7.$�&KRU]yZ �������
� ':25$&=(.�3DXOLQD �� -25'$1�.UDNyZ �������
� 6,5,*1$12�/XLJLD �� -25'$1�.UDNyZ �������
� 6=&=(3$1,.�-RDQQD �� :2'1,.�ĝUHP �������
� 3$:à2:6.$�0DUWD �� 3LĊWQDVWND�$48$�%\GJRV]F] �������
� %866(�6\OZLD �� :2'1,.�5DGRP �������

6HULD����]���

� %25.2:6.$�$OHNVDQGUD �� 2/,03,-&=<.�6XZDáNL �������
� %$5$1�-XVW\QD �� 0.3�6]F]HFLQ �������
� '<$.2:6.$�0DMD �� 25.$�&LHFKDQyZ �������
� 62.2à2:6.$�'LDQD �� -89(1,$�%LDá\VWRN �����
� .$63(5(.�.DWDU]\QD �� :$57$�3R]QDĔ �������
� 'à8*2àĉ&.$�.DUROLQD �� 81,$�%XVNR�=GUyM �������
� 5<&=$.�0DMD �� $6725,$�%\GJRV]F] �������
� 5Ïĩ$/6.$�0DUW\QD �� *���%LHODQ\�:DUV]DZD �������


